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Mental Alility 1

Group Number : 1
Group Id : 545927621
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 545027621
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927745
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592712525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 5eries 15 givern with one incorrect term. Select the wrong term from the given alternatives,

WYCD, TUHE, QRSE, NMMNL
Options:

1. % WD

2. % TUXX

3. ¥ CRSR

4, % DMMIMNL

Question Number : 1 Question Id : 54592712525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e STgeRH T T B, e 6 ue ug Tea 81 fau M et § 39 e 0 g

WCD, TUHE, ORSE, NMMNL
Options:

1. % WD

2. % TUXX

3. ¥ QRSR

4. % DMMDNL

Question Number : 2 Question Id : 54592712526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the given words in the sequence in which they occur in the English dictionary.

1. Federate
2. Federals
2. Federary
4. Fedexing
5. Fedayeen

Options:

1. ¥ 52314
2. % 52134
2. % 52341

4 % 51342

Question Number : 2 Question Id : 54592712526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



FEAET qeal B ST seame § o AT T & R fweE

1. Federate
2. Federals
3. Federary
4. Fedexing
5. Fedayeen

Options:

1. ¥ 52314
2 % 52134
2. % 52341
4 % 51342

Question Number : 3 Question Id : 54592712527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A series is given with one wrong term. Select the wrong term from the given alternatives.

AH, DE, GHN, JR
Options:
1. % AH
2. % DK
2% G
4 ¥ JR

Question Number : 3 Question Id : 54592712527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e SR o a7, T & g g e ) T g et § & 39 e ug A g

AH, DE, GM, JE
Options:
1. % AH
2. % DK
3% G
4 ¥ JR

Question Number : 4 Question Id : 54592712528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd letter fletters from the given alternatives.

Options:

1. ¥ BDG
2. % ADG
2% Py

4 % QORI

Question Number : 4 Question Id : 54592712528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrataiaT wy # for 7o fawet & & fouw ey et &t g



Options:

1. ¥ BDG
2. % ADG
3% PV
4. % QR

Question Number : 5 Question Id : 54592712529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the odd word from the given alternatives.

Options:

1. % Tiger
= ¥ Cow
2. * Lion

4 % Wolf

Question Number : 5 Question Id : 54592712529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimiET wg | o my Ewedt o & oy aeg w1 giam

Options:
1. % &M
2 ¥ T
3. % g
4, % iz

Question Number : 6 Question Id : 54592712530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are givert. The letters on left side of () is related to the letters on the
right side of () with some Logic [Rule/Relation. Three are sirrilar on basis of same Logic/Rule [Relation. Select
the odd one from the given alternatives.

Options:

1. % AECD : FGHI

2. % MNPRT : 5UWY
3. ¥ OQRT : TUWY
4 % FKLMN : PORS

Question Number : 6 Question Id : 54592712530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Forr T v I ey e T TR () o St ST T v arar ) 3 gl a1 T T arew & Rt aek ) e way |
HeTa 21 A1 T o 9k Foram e & ST oy ' 8 Tan g Tt # 9 faw w5 g

Options:

1. % ABCD : FGHI

2. % MNPRET : SUWY
3 ¥ OORT : TUWY
4 % FLMN : PORS



Question Number : 7 Question Id : 54592712531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related word pair from the given alternatives,

anga  River o ¢
Options:

1. ¥ Pen : Stationery
2. % Figure : Rectangle
2. % EBook : Reading

4. % Work : Pencil

Question Number : 7 Question Id : 54592712531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e g o fom w femeut # & Hatdd aeg g @t g
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Options:

1. & Tad  oE- AT
2. % T g

3 ® fopdTe wgAT

4 % T U

Question Number : 8 Question Id : 54592712532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word from the given alternatives.

Meedle : Clock - Cockpit - 7
Options:

1. % Acoroplane

= % Road

3. % Driver

4. % Passengers

Question Number : 8 Question Id : 54592712532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiET na § for 1y et § 4 HeldT geg @ giam

q TSI WIEUT 7
Options:

1. gars sigr

2 % HZw

3. ® ZE

4. % It

Question Number : 9 Question Id : 54592712533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related letter pair from the given alternatives.

ABKL : FGRC 2 ?
Options:

1. % GHLM : LMCRE
2. % PRST . TSAE
2. % HIJK . ABCD
4 % REAE  WHNO

Question Number : 9 Question Id : 54592712533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferT na # fom 7 amedt # & Hellda s1a) g w1 g

ABEL FGPO o 7
Options:

1. % GHLM : LMOR
2. % PRST : TSAE
2% HIJK : ABCD
4. % REAE  WHNO

Question Number : 10 Question Id : 54592712534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In1 & certain code language, 'TOGE 15 called as ‘BARE, 'BAREK' is called as 'EMNDY, 'EMLY 15 called as 'BOMNE',
‘BONE' 15 called as "5OFT”, "5OFT’ 15 called as 'EYES'. What do dogs eat?

Options:

1. % BONE
2 ¥ SOFT
2. % END

4 % EYES

Question Number : 10 Question Id : 54592712534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % z=v
2. ¥ garH
3% @am
4 % e

Question Number : 11 Question Id : 54592712535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘ENVY' is written as "60°, ‘FACE’ is writter1 as "%’ What is the code for ‘FOUL’ in that
code language?

Options:

1. % 43



2. % 40
3. ¥ 48
4. % 48

Question Number : 11 Question Id : 54592712535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e #E vy # ENVY #1600 T aET |, FACE &9 o 9T 81 59 ®iE wmT # FOUL’ #T F1E &7 &7
Options:

1. % 43

2. % 40

3.¥ 48

4 % 46

Question Number : 12 Question Id : 54592712536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Inn a certain code language, 'Cake is black’ is written a5 "4 5 7, "Elack are colour’ is writterl as '3 2 4, ‘Colour
are simple’ is written as ‘2 8 2°. What is the code for ‘cake’ in that code language?

Options:
1. % 4
2. %5
%7
4 ¥ Sor7

Question Number : 12 Question Id : 54592712536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TaiE wE YT Cake is black @4 5 7 TWETAET§, ‘Elack are colour’ #1°3 2 4° T 9ET 8, ‘Colour are
simple’ F1°3 8 2 FRETAET 3 50 TS AT H ‘&F & FIS FAT 57

Options:
1. % 4
2. %5
387
4 ¥ 5AT7

Question Number : 13 Question Id : 54592712537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Shreya, Mulkesh, Sahil, Kishore and Richa are five friends. Shreya is younger than 5Sahil. Mukesh is younger
than Shreya but elder than Kishore. Richa is the youngest. Whao is the second youngest among these five
friends?

Options:

1. ¢ Kishore
2. % Shreva
2. % Mukesh
4. % Sahil

Question Number : 13 Question Id : 54592712537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

T, [T, - TeFar AT ST O 2 B A, I 3T, ST | FIET & TR [eran & F57 81 o ged Fial 51 54
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Options:

1. v Tepani
2. % A

3 % g
4 % q@rige

Question Number : 14 Question Id : 54592712538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& weighs twice a5 much as B, B weighs three and half times as much as €. < weighs half as much as D D
weighs half as much as E. which of the following represents the ascending order of weights?

Options:

1. % CE &4 ED,
= ¥ C D EBE A,
2% C A DEE
4 % Z D E A B

Question Number : 14 Question Id : 54592712538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % CE A ED,
2. ¥ CZ D,BE A,
2% ADEE
4 % Z, D E A E

Question Number : 15 Question Id : 54592712539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
E is the sister of C. A is brother of B, E is the sister of D, D is the son of B, How 1S E related to A7

Options:

1. ¥ IMiece

2. % MNephew
2. % Sister

4 % Daughter

Question Number : 15 Question Id : 54592712539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

B, CHTggl A, EFUE A E, D& agaa D, EFUT 8 E & & &4 Galad g7
Options:

1. % o=t

2. ®

3 % g



4 %

Question Number : 16 Question Id : 54592712540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six persons Y1, ¥2, ¥3, ¥4, ¥5 and Y6 are sitting around a circular table facing towards the centre. ¥2 is third
to left of ¥5. ¥3 is the third to the right of ¥1. Only Y& is sitting between Y1 and ¥5. ¥4 is third to the left of
Y&, Y6 15 not to the immediate left of ¥5. Which of the following statement(s) is/are correct?

[. ¥5 is sitting to the immediate right of Y&,
II. ¥4 is second to the left of Y5

III. ¥2 is sitting to the immediate right of ¥1.
IV, Y1 is sitting to the immediate left of Y&,
Options:

1. ® Tandll

2. ¥ 1l and III

S % Mland IV

4. % Cnly II

Question Number : 16 Question Id : 54592712540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T e Y1, Y2, V3, V4, Y5 T ¥E aﬁrfﬁaﬁr% TATET 0 & 52, - T2 ald 51 Y2, Y5 & a& I deeT g1 ¥3, ¥l
o gt ST FreRT 81 Y1 oY VS & die ¥ e V6 %1‘1’4 VE ﬁTEI'RﬁSﬁTHQIﬂ'(T%] Y6, Y5 ¥ T It oK g B TrtataT
T AT P TR 557

1. V5, V& & qXd SIIT 3 <7 2l
I1. ¥4, Y5 & amdt &

1. ¥2, Y1 o qid ol 81 sar
IV. V1, Y6 a%aj?ram“raﬁﬂﬁr

Options:
1. % 1 &Il

> W11 Il
3 80 sV
4 R FEdll

Question Number : 17 Question Id : 54592712541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1T =Tt o Tep H 53 Fad FleT & el 52 T e T 51 57, 55 A AT § #ipT 56 & mﬁ% YT eI wvell e
56 8155, 53 W o ST 51 & Fhe ﬂﬂ;ﬁa@ﬂmmwﬁﬁsqa 51, 57 FFET R S & S 57
Options:

1. =2

2 %3

3 0% 4

4 W 5

Question Number : 17 Question Id : 54592712541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ina group of seven PRTSOILS, 5215 the shortest while 52 15 the tallest. 57 15 taller than 55 buat shorter than 56,
SE 15 the second tallest PRrSoI1 in the gronp. 5515 taller than 52 but shorter than 51, 54 15 second shortest
Persor in the gronap. 51 is taller than 57, How ITIANY Persors are taller than 547



Options:
1. % 2
2. % 3
3% 4
4. ¥ 5

Question Number : 18 Question Id : 54592712542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seern to be at variance from conmrmonly knowrn
facts, read all the conclusions and then decide which of the given conclusions. Logically follow|s the given
Staternents.

Staternents:
[. &l] pens are tables.
II. Some pens are chiairs.

COnClusions:
[. Some tables are pens.
II. Some chairs are tables.

Options:

1. % Cnly conclusion I follows

2. % Only conclusion 11 follows

2. ¥ Both conclusion [ and I follow

4. % MNeither conclusion follows

Question Number : 18 Question Id : 54592712542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Ta My weg g g o 3 ag 3 Sl O AT 7 ey o T 9 Taw T et T 6Rt 0, o 99 9 A
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Options:

1. % et Tmerd 1 SI e #ear g

2. % e Teay 11 SIe aT o

3. A1 Tmae | FT I STE FHd 7
4 % g ot Fmad ergee TRl aaT

Question Number : 19 Question Id : 54592712543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts, read all the conclusions and then decide which of the given conclusions. Logically follow/s the given
Statermnents.

Staterments:

[. Mo Jis Q.

II. All & are M.
III. Mo Mis L.

COnclusions:

[ Mo LisQ.

II. Some Care L.
III. Mo Lis M.

Options:

1. ¥ Both conclusion I and III follows
2. % Only conclusion I follows

2. % Only conclusion I follows

4. % Both conclusion II and I follows

Question Number : 19 Question Id : 54592712543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
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el

I T J, Q5 &
II. w4t O, M 3
III. FEM, L 951 81

e
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Options:

1. AT Tmeped I qim 111 Srgeo @i &
2. % el Tea 111 SIge FaT o

3. % el TRy 11 SIE ®ar g

4 % At Tmery 11 T2 111 e &g &

Question Number : 20 Question Id : 54592712544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If W means ‘=, ¥’ means 'x’, Y means '+ and ‘2’ means -, then E Y 4 X 72 W IBX 27 WAV 4Z 18 =7

Options:
1. % 48
2. % 5B
2. ¥ 40
4 % G50

Question Number : 20 Question Id : 54592712544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e WomT et <, Woa et o, v E s+ D wenf - E ATE Y 4K TR WIBK 2T WIY4Z 18 =7

Options:
1. % 48
2. % 56
3.9 40
4. % G0

Mental Ability 2

Group Number : 2
Group Id: 545927622
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Abilitye
Section Id : 545927622
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927746
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592712545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If ‘A" means "+, 'B means "', "7 means '+ and T means -, then 45 4 15 C 152 A 1IFEZC 7D 189 =7

Options:
1. % 16

2. ¥ 18
3% 28
4 % 36

Question Number : 21 Question Id : 54592712545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

i A wrant =, B owrenf o, O mTent 4+ T D wrarf - gL dT45 A4 1SC 153 A 1FESCTD 19 =7
Options:

1. % 16

o2 ¥ 18

3. % 28

4 % 35

Question Number : 22 Question Id : 54592712546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

347 2206 568 Y
Options:
1. ® 3369

2. ¥ 4819
3% 4721
4. ® 4959

Question Number : 22 Question Id : 54592712546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt we # fau 0 feeweut # 4 Heldd g w i g

347 2206 568 7
Options:

1. % 2369

= ¥ 48139

3% 4721

4 % 4989

Question Number : 23 Question Id : 54592712547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

987 168 837 Y
Options:

1. % 96

2. % 110

3. % 225

4. ¥ 101

Question Number : 23 Question Id : 54592712547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TaimiET v | for my Hwedt o & detia dear w1 giam

Q87 188 B37 7




Options:
1. % 96
2. % 110
3% 225
4. % 101

Question Number : 24 Question Id : 54592712548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the given series.

11, 42, 93, 164, 255, 7
Options:

1. ¥ 366

2. % Z72

3% 296

4. % 406

Question Number : 24 Question Id : 54592712548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafeiie weg o &1 e spmer 4 o <iw S Hi
11, 42, 93, 164, 255, 7

Options:

1. ¥ 368

2. % Zrz

3. % 296

4. % 406

Question Number : 25 Question Id : 54592712549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

6, 11, 23, 45, 31,7
Options:

1. % 180

2. % 186

2% 148

4. % 181

Question Number : 25 Question Id : 54592712549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trafei v & &1 ofme # 9 gy siw F1 Hi

&, 11, 23, 45, 91, 7
Options:
1. % 180



2. % 186
3% 148
4 ¥ 181

Question Number : 26 Question Id : 54592712550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

=, 10, 31, 94, 2583, ¢
Options:

1. % 881

2. % 597

3. ¥ 850

4 % 3261

Question Number : 26 Question Id : 54592712550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT g # &7 T et H & oA S A e
2, 10, 31, 94, 282, 7

Options:

1. % 281

2. % 597

3. ¥ 350

4 % 3261

Question Number : 27 Question Id : 54592712551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related number from the given alternatives.

26455 3767
Options:
1. % 29
2. ¥ 47
2 % G4
4 % 16

Question Number : 27 Question Id : 54592712551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEfeTET we § o My foweut § 9 Heldd ST @1 b
86455376 Y

Options:

1. % 29

= W47

2. % 54



4 * 16

Question Number : 28 Question Id : 54592712552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg question, select the related rnurmber from the Ziven alternatives.

4. 232587
Options:

1. % 296

2. % BG5E8

3% 4458

4 ¥ 537

Question Number : 28 Question Id : 54592712552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg # o my fHewedt o & Hetid wear w1 giam

46 232587
Options:

1. % 296

2. % B5E

2% 448

4. ¥ 537

Question Number : 29 Question Id : 54592712553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four nurmber pairs are given. The nurmber on left side of (=) is related to the number
of the right side of (-) with some Logic/Rule/Relation. Three are sirmilar on basis of same Logic /Rule/Relation.
Select the odd one from the given alternatives.

Options:

1. ¥ 3245 - 11
2 % 367 -16
3% 246 - 18
4 % 3249-14

Question Number : 29 Question Id : 54592712553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Ta T ey, =T e g TR T 1 (-) o S ST S TS S (- jﬁ?@tﬁ@??fﬂﬁﬂwﬁﬁﬁra—cﬁ;ﬁaﬁ ey o Heatig
21 T FET e T Terom | Heler & ST oY |aT g Ty My Eeedt § & fEuw wt g

Options:
1.9 345 - 11

2. % 367 -16
3% 546 - 18
4 % 329-14



Question Number : 30 Question Id : 54592712554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Ier, Professor, Ship
Options:

(0o
@D

3¢

@

Question Number : 30 Question Id : 54592712554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W - AT Al T T AT o s o Herel &1 a1 e HedT o)

Options:

(0o
@D




Question Number : 31 Question Id : 54592712555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the givern figure, how rmany Chinese are Japanes:s but 1ot Korean?

Chinese

12

Japanese / H \

Korean

Options:
1. % 12
2 %5
3. %3
4 & 7

Question Number : 31 Question Id : 54592712555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TE St Topqer =T ST § e wifeard = £

Weam

Options:
1. % 12
> %5
3. % 3
4 9 7

Question Number : 32 Question Id : 54592712556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Asha walks 20 feet towards the east from a point F. Then she turns right and walks 15 feet. She again turns
right and walks 20 feet. How far is Asha from point F now?

Options:

1. % 15 feet
2. % 13 feet
3. % 17 feet

4 % 12 foet



Question Number : 32 Question Id : 54592712556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A g P 9 20 nﬁfgfﬁaﬁ?aﬁ@ O 75 0 ged T & of 15§l IwdT 81 95 T o1 G2d 1 & o1 20 HiT Iad! a1 S
Telg P & a7l Tera=T ¢ &

Options:

1. 154
2 % 13 %
3 % 17 %T
4 ® 12 %

Question Number : 33 Question Id : 54592712557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& girl starts from her school and goes 8 ki towards the south. She turns left and goes & kim. She turns right
and goes 8 kun. She finally turns right and goes 23 km. How far and in which direction is she now from her
school?

Options:

1. ¢ /481 km, South - west
2. % /461 km, South - west
= % /481 km, South - east
4 % /461 km, South - east

Question Number : 33 Question Id : 54592712557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT S0 T & AT FGT &1 ST 3 Tor A1 AT EXIREIEil
gﬁﬁ AT 8 aﬁm?ﬁ?ﬁ%ﬁ Gl'l'dc?% T B0 %agﬁm?ﬁgﬁzmﬁfﬂﬁm HEr AL

Options:

1. 451 Tr T, i - oam
= % .Jj461 T AT, SiEm - okEm
3. % f481 e, g - of
4 % /461 Fr T, T - g

Question Number : 34 Question Id : 54592712558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

S

oYy

4

Options:




v

Question Number : 34 Question Id : 54592712558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T na ® T my et # & Bew syt @ g

Options:
O
1. % &
Z\a
K3
o
3 ®
o
It
4 ® \7

Question Number : 35 Question Id : 54592712559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

RSN

dla
| g |

Options:




¥
2 ¥

o>
3 ¥

-9
4.

Question Number : 35 Question Id : 54592712559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT e AT o AT BT T Hl?

RSN

3l ?
| s

Options:

"o
.

4.V

Question Number : 36 Question Id : 54592712560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Two figures given on the left side of () are related with some logic/rule/relation. Select the missing figure on
the right of () from the given alternatives based on the same logic/rule frelation.

o 00 o
@)@
Options:

1. %
o ®
3 ®
4 %

Question Number : 36 Question Id : 54592712560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
() I AT oI SF T S e d T et ae T Her & gt B o v Eeent # 9 () % gt o mae T e deyr
TR A ST i

@) : | @|:|@] | °

Options:
1. %
o %




Question Number : 37 Question Id : 54592712561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a rmmirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

N
712N

Options:
Ly
I q
1. % e
x|
| [
o ® KL=
£
b |
3. v KL=
<
I
4 ® )

Question Number : 37 Question Id : 54592712561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T 2T T AR YT T T, A S T 9 st i 4 i o st v et A at w e i

N
71N

Options:



LY
Is q
1% LT
e
' | B
> % KL=
LY
b q
3¢ 8
4 kS A

Question Number : 38 Question Id : 54592712562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

T W e/-

L]
4.%‘\le

Question Number : 38 Question Id : 54592712562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



I H IO ATFIT T AT o WIS W T HAL?

Options:

1.&’\9

T W e/-

L]
4.%-\0

Question Number : 39 Question Id : 54592712563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figU.I'ES, select the one in which the question figure 15 hidden jembeddad.

X

Options:

XX

o




Question Number : 39 Question Id : 54592712563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TTE IO ST B F 99 IR ATE F gy e ng s BT

N

Options:

XX

o

Question Number : 40 Question Id : 54592712564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many quadrilaterals are in the given figure?

Options:
1. %1
o R
3. v 3
4. # 4



Question Number : 40 Question Id : 54592712564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FARIEIRCAC R R E T ERrk TRy
Options:
1. %1
2 %2
3.9 3
4 % 4
rereral Awarenessl
Group Number : 3
Group Id: 545927623
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarernessl
Section Id : 545027623
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027747
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592712565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
which of the following state-follk dance pairs is NOT correct?

[ Maharastra - Lawvarni

I1. West Bengal - Kathi

III. Hirmachal Pradesh - Ehangra
IV, Andhra Pradesh - Folattarm

Options:
1. %1

2. %11
3. VI
4 % IV

Question Number : 41 Question Id : 54592712565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl & & ®99 a1 Tea-dle 700 @7 g 951 51 87

I. nsmgl—amﬁ

11 P Tl — 18T
111 TR HTTe Wear — AiaT
I 3711 W& - FIFgH
Options:

1. %1

2 %I

3. VI

4 % IV

Question Number : 42 Question Id : 54592712566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Motre-Darme Cathedral 1s situated i ______.
Options:

1. ®* Dhaka

2. % Paris

3. % New York

4. % Tokyo

Question Number : 42 Question Id : 54592712566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A-20 FET ______ o e 2
Options:

1. % 31T

2 Ui

3 8

4 % gErar

Question Number : 43 Question Id : 54592712567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



"Theyyarm” dance 15 associated with which state?
Options:

1. % Uttar Pradesh

= % Assam

3. ¥ Kerala

4. % Crissa

Question Number : 43 Question Id : 54592712567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR o T T ST 87

Options:

1. % o
2 % am@AE

3 v oA

4, % FZrEm

Question Number : 44 Question Id : 54592712568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which state is the "Natyanjali® dance festival held?

Options:

1. % Tarril Madu

Z % andhra Pradesh
3. % Kolkata

4. % Gog

Question Number : 44 Question Id : 54592712568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 1 T s o e o o oo M T g e B e I ) e

Options:

1. gt
o % ST uE
Z. % FicwEr
4 % T

Question Number : 45 Question Id : 54592712569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Budgetary deficits can be financed by which of the following methods?

[. Taxation

II. Borrowing
III. Frinting money

Options:
1. # landlIl

2. % Il and III
3. % [landl



4. % 1,11 and III

Question Number : 45 Question Id : 54592712569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 'S F R # o TR BTz HaviiT G A1 ST gy

I FRT
II. 38R
I11. T &7

Options:

1. % 134Tl

= % 11 q9Tll
3. % 101 Tl
4. % 1 11 g9l

Question Number : 46 Question Id : 54592712570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ gross domestic product is the value of gross domestic product at the current prevailing prices.

Options:

1. % Real

2. % Uniform
2. % Constant

4. % MNorrinal

Question Number : 46 Question Id : 54592712570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ el o] SeUTs d W Wl fold ShiFd | O Hefel Wi SouTg &1 0Fd gl

Options:

1. ® gredids
2. % \@Oe
SRR =8

4  difgew

Question Number : 47 Question Id : 54592712571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho is responsible for calculation of GDF in India?

Options:

1. % Reserve Bank of India

2. # MNational Sample Survey Office
Z. % NITI Aayog

4 % Central Statistics Office

Question Number : 47 Question Id : 54592712571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
VR | Hehel T JoUTg, o Titeher & Toi] THgiead § & #19 Javagrt 87




Options:

1. ® qrdtg fead dw

2. % TR THAT S A
3. ® T smanT

4. T WIS AT

Question Number : 48 Question Id : 54592712572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following acids is NOT present in acid rain?

Options:

1. % Mitric acid

2. % Carbonic acid
2. % Sulphuric acid

4 % Formic acid

Question Number : 48 Question Id : 54592712572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR | & & AT S ST a0l # IO A5l 5T 57

Options:
1. ® qEidE ara
= R W AT

Question Number : 49 Question Id : 54592712573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the fOllOW‘iI‘lg acts as a natural pinhole carmera?

Options:

1. % Cardboard with a hole
2 % Grass

3. # Tree with no leaves

4 ¥ Trees with large number of leaves

Question Number : 49 Question Id : 54592712573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FRimET # @ ST UF MEiad g ig $aeT & &1 H & FdT 57
Options:

1. % U@ g oTaT T

=z % gH

3 % Earmatarus

4, ¥ Fgd SATEE W T S

Question Number : 50 Question Id : 54592712574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Conduction is

Options:

1. # transfer of heat from cold end to hot end of a same solid
2. ¥ transfer of heat from hot end to cold end of a same solid
3. % heat transfer between two bodies of same temperature

4. ® heat transfer from solid to liquid at same temperature

Question Number : 50 Question Id : 54592712574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % g gl & o &2 T8 & 70 9 0% S6AT &7 S=1a
o ¥ UF LT A & TH O | 52 R U AT @ ST
Z. % FA TIOA G &7 US! & S AT FT T

4, % FAM THATT U7 FEAT T 30T & TEA T THE

Question Number : 51 Question Id : 54592712575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Special shapes are given to airplanes and boats. Which of the following is NOT a reason for doing so?

[. Reduce loss of energy
II. Reduce fluid solid friction

Options:

1. % Only1

2. ¥ Only 11

% % BothlandII
4. % Neither I nor II

Question Number : 51 Question Id : 54592712575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TATE ATl A AT @ S e T AT 81 UET e o U eie T § @ |97 F AR e

1. FIF &7 JFaT FH FAT
1l TT-TN T & FAT

Options:

1. % Fael

o ¥ A 1l

3. % [ gurll FFt
4. % qUFTIATAIL

Question Number : 52 Question Id : 54592712576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The part of the human body which has no role in producing sound is the

Options:
1. ® larynx

2. % windpipe



2. % ywocal cord
4 % stormach

Question Number : 52 Question Id : 54592712576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TG ST T ag AT R edtl Soug @ B s Qe gl 5, ______ 7

Options:
1. % 35
2. ® gTeEr
3. % agag
4« W1

Question Number : 53 Question Id : 54592712577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct order of Processing of sound by hurrans.

& - Bardrurm, B - Brain, C - Inner ar.
Options:

1. % 4-B-C

Z ®WEBE-A-C

3R C-B-4A

4 ¥ A -C-E

Question Number : 53 Question Id : 54592712577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Al ERT a1 o V0T o @51 FF F1 oa- B

A - FNOEE, B - AlEasd, C - F¢ 30
Options:

1. % A-B-C

2 RB-A-C

2R C-E-A

4 ¥ 4 -C-B

Question Number : 54 Question Id : 54592712578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

First menstrual flow is knownas ______
Options:

1. ¥ Menopause

Z % Menocycle

3. % Menarche

4. % Menostart

Question Number : 54 Question Id : 54592712578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. ¥ wifgid

2. ® mTTF

3. ¥ g

4, ® FgEdT JETT

Question Number : 55 Question Id : 54592712579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich acid is released in the stormach of human beings for the activation of the Enezvrne Pepsint'™

Options:

1. # Sulphuric acid

2. % Nitric acid

3. % ascorbic acid

4. % Hydrochloric acid

Question Number : 55 Question Id : 54592712579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e SATER &1 \hpa T o o0 AT 37 STHTST | e &7 SIFT Jo0g § 1T 27

Options:

1. % Hewgiian arfel
2. ® qERE ard

3. ® geeTie® 3
4, o TESIFAIRE 7

Question Number : 56 Question Id : 54592712580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following factors affect the population of a place?

I. Climate
II. Infrastructure
III. Healthcare

Options:

1. % Tandll

Z % IIand Il
3 % Ilandl
4 ¥ 1 11 and III

Question Number : 56 Question Id : 54592712580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeTET 8 & B o TE [T T W AT W WA ®ed a7

1. SeaTg
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Options:



1. % 139l
2. % 11 Il
3. % 11 797l
4. % 1 11 qom il

Question Number : 57 Question Id : 54592712581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Indian river is known a5 “5ingi Kharnban® in Tibet?

Options:

1. % Indus

2. % Brahrmaputra
3. % Jhelum

4 % Chenab

Question Number : 57 Question Id : 54592712581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terey AT A5 & Tdead § ' Ga & AT AT =T 87
Options:

1. v T

2 ® FEyd

3. ® AEaH

4 % 4=

Question Number : 58 Question Id : 54592712582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is a westward flowing river?

Options:

1. ® Ganga
2. ® Krishna
3. ¥ Tapi

4. % Godavari

Question Number : 58 Question Id : 54592712582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT & & 1 | ST Ul T S g 57
Options:

1. %

= % oy

3 ¢ it

4 % T

Question Number : 59 Question Id : 54592712583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following is MOT a Kharif crop?



Options:

1. % Maize

= ¥ Watermelon
3% Jowar

4. * Eajra

Question Number : 59 Question Id : 54592712583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR # | H | B U GG H A g1 57
Options:

1. % 7gr

2. ¥ JiET

2% g

4. % FET

Question Number : 60 Question Id : 54592712584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which type of farming farmers use High Yielding Variety (HYV) of seeds, chemnical fertilizers, pesticides etc.
to increase crop productivity?

[. Commercial farming
II. Frirmitive farming
III. Subsistence farming

Options:

1.9 Cnly I
2. % Only 11
2% Only I
4. % [andIII

Question Number : 60 Question Id : 54592712584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Torer eTe @1 ST H Tore e o SouIe®d T ae T & 10 35 U [er (HYY) & a1, TTE® Jatd], s ieATae T @
JUT W 57

1. it ST
1. W et
111. Ty =4t

Options:
1.9 Faal

= % FEeil
= ¥ Foelll
4 % 1 9Tl

ereral Awarenassz

Group Number : 4
Group Id: 545927624



Group Maximum Duration : 0

Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessz

Section Id : 545927624

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027748
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592712585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Coffee is grown in which of the following states of India?

Options:

1. # Rajasthan
= ¥ Karnatala
2. % Punjab

4. % Harvana

Question Number : 61 Question Id : 54592712585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FTHT AT § & T & g v o 3 AT &7
Options:

1. % TFe

2 ¥ FleE

z & U

4. % gl

Question Number : 62 Question Id : 54592712586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following kings is associated with the Maratha Kingdom?



Options:

1. ® Raja Ajit Singh

2. % Murshid GQuli Khan
=. ¥ Shivaji

4. % Jahandar Shah

Question Number : 62 Question Id : 54592712586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETmET T 8 € ® I WET 9T | g2 87

Options:

1. % 147 a1 g

o % gl el &t
3. ¥ Taamr

4, % FFiER 4TE

Question Number : 63 Question Id : 54592712587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mayanars' were saints devoted to which of the following Gods?

Options:

1. ® Krishna
2. % Shiva
2. % Vishnu

4. % Brahrma

Question Number : 63 Question Id : 54592712587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR | gt o | e aae & s 97

Options:
1. % o
o ¥t

z. % fom
4. % FET

Question Number : 64 Question Id : 54592712588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Eattle of Seringapatam was fought betweer the British East India Company and the
Options:

1. ¥ Borrbay Province

= % Kingdor of Jhansi
3. % Bengal Province

4. ¥ Kingdorn of Mysore

Question Number : 64 Question Id : 54592712588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ARTITR BT G Tiear e siEar HEt o
Options:

1. % STl uid

= R =T A

3. ® IMA WT

4 Ty qmEa

Question Number : 65 Question Id : 54592712589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Jatakas', a type of religious literature are associated with which of the following?
Options:

1. #® Jainism

2. % Buddhism

2. # Judaism

4 % Sikhism

Question Number : 65 Question Id : 54592712589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TR T o eITTHa Hiigcd ‘SIaer, Hioiad H & fore o & SareT g7

Options:

1. % JeH
o o dig a
3. % opdred
4. % Trg e

Question Number : 66 Question Id : 54592712590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ introduced the Ganapati festival in Maharashtra in 1893,

Options:

1. # Aurobindo Ghosh

2. % Bankimn Chandra Chattopadhyay
3. ¥ Mahatma Gandhi

4. % Bal Gangadhar Tilak

Question Number : 66 Question Id : 54592712590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ 7 1893 § UgRE # TOHIT Foad T QEsTd

Options:

1. ® aRfderam

2. % gl =g =g Ty
3. % mErenr et

4. & T TR W Aw

Question Number : 67 Question Id : 54592712591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
In ‘Tinkathia' systemn, farmers had to cultivate Indigo in

Options:
1. % 1/20
2 % 1110
3. ¥ 220
4 % 7120

part of their land holding.

Question Number : 67 Question Id : 54592712591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR I&AT WUTTET o, ToRT=T 1 SToT i S o ______ YA U H1e ol &l T AT g1 2

Options:

Question Number : 68 Question Id : 54592712592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which state is the Central Institute of Mining and Fuel Research situated?

Options:

1. % Jharkhand
2. % Uttarakhand
3. % Maharashtra

4 % andhra Pradesh

Question Number : 68 Question Id : 54592712592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WS T Ud Ee SrgEET weT e T # e g
Options:

1. ¢ FEs

2 ® TEE

3. % mERE

4 R aer o

Question Number : 69 Question Id : 54592712593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which writer has been honoured with the Jnanpith Award 201357

Options:

1. % Malala Yousafzai
2. ® william Dalryrmple
3. ¥ Armitav Ghosh

4. % Sarmantha Shannon



Question Number : 69 Question Id : 54592712593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T oI T AS [OERT 2018 & qrHTa T T 87

Options:

1. % Oeme ggEs
2. % Eieae 2ate
3. o arfigTa Ty

4. % U 9

Question Number : 70 Question Id : 54592712594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the first wornan IPS officer to complete the 7 Surmrnit Challenge in 20197

Options:

1. % Archana Ramasundararm
Z % Virmla Mehra

3. ® DrEB. Sandhva

4. ¥ Aparna Kumar

Question Number : 70 Question Id : 54592712594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 # 7 @it A5 FT [T G AT T BT et . st w2

Options:

1. % R TaTETH
=, % TImar Age

3 % =7 &\

4 & S FEw

Question Number : 71 Question Id : 54592712595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich company got the President’s award for excellent Corporate Social Responsibility (C5R) in Social
Dewelopmment in 201357

Options:

1. * Bharat Alurniniurm Company Lid

= % National Alurminium Company Lirmited

3. % National Therrmal Power Corporation Lirmited
4. % Steel Authority of India Lirmited

Question Number : 71 Question Id : 54592712595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 H g W ¥ Ioge HTTHT ST o< (6 09, A7) & TR R wust w apid wRew R i

Options:

1. ¥ Ry grgia-ay @l Wi
2 ¥ I Ueg ey FET e
3. ¥ I i UTeR T S



4, ® TR ST AT Sl foiies

Question Number : 72 Question Id : 54592712596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
International Day of Parliamentarism is celebrated on

Options:

1. % 20th June
2 % 2Fth June
3. ¥ 30th May

4. % 27th May

Question Number : 72 Question Id : 54592712596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T SO e T AT AT 2]
Options:

1. % 30394

2 % 279

3 v z0m

4 ® 27 Wi

Question Number : 73 Question Id : 54592712597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
________ iz the first transgender to receive the Padma Shri 2019 in Bharatarnatyanm,

Options:

1. * Lasxmi Marayan Tripathi
2. % Sathya Sri Sharmila

2. ¥ Narthald Natara]

4. % Joyita Mondal

Question Number : 73 Question Id : 54592712597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ TWIATEIA | 0a7 4t 2019 U a7l U5l Test 2l

Options:

1. % FadT AR HuraT
2. % o A e

3. o T e

4. % FiEETAlEA

Question Number : 74 Question Id : 54592712598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the rrinirnarm age for the appointment as Governory

Options:
1. % 20 vears
2 % 25 years



3. ¥ 35 vears
4 % 29 years

Question Number : 74 Question Id : 54592712598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TFITH o i o 1o w2Aa | ST 4T &7
Options:

1. % 3097

o % ooad

3 ¥ 35Ty

4 ® ogaf

Question Number : 75 Question Id : 54592712599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following was added to the Indian Union through the 12th Constitutional Amendrnent Act?

Options:

1. ¥ Daman and Diu
2. % Siklam

2. ® Mizoram

4. % Puducherry

Question Number : 75 Question Id : 54592712599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey & & e and o gidea= o 12 o |t Gater sifdi-e=m & Areaw o ST 7T a17

Options:

1. ¥ g s o
2. % Tage

3. % fEAnm

4 % gET

Question Number : 76 Question Id : 54592712600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The executive power of the state is vested in

Options:
1. #® Prirme Minister
2. % Chief Minister

2. % Governor

4 * Vire President

Question Number : 76 Question Id : 54592712600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1 FThETLT A H ffgT @

Options:
1. % quraAEr



2. % gEaHEt
3% T

4, % FoEmEgh

Question Number : 77 Question Id : 54592712601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who appoints the Attorney General of India?

Options:

1. ¥ Fresident

= % Prime Minister
2. * Vice President

4. % Speaker of Lok sabha

Question Number : 77 Question Id : 54592712601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WRA & UEIdTs 1 g P19 #dT g7
Options:

1. & TEn

2. % meTEET

3. ¥ gmEi

4, % F AT Ty

Question Number : 78 Question Id : 54592712602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Play [ndia Youth Games 2019 was heldin ______ .
Options:

1. #* Surat

2 % Pune

3. # MNew Delhi

4 % Kolkata

Question Number : 78 Question Id : 54592712602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el SIS T g e 2019 _____ # 32 ofh
Options:

1. % gog

2 ¢ o

3. % ¢ et

4 & e

Question Number : 79 Question Id : 54592712603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
World Wormnen's Boxing Charmpionship 2018 was held in .

Options:



1. * Murmbai
= % Pune

3. % Chennai
4. ¥ MNew Delhi

Question Number : 79 Question Id : 54592712603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terar wigaT ggamit diteeiET 2018

Options:

1. % gag

2 % g

3 % ogE

4. ¥ T2 Tamelt

Question Number : 80 Question Id : 54592712604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
became India's first judo medalist at the Olympic level in 2018

Options:

1. % Ana Viktorija Puljiz

= % Hima Das

2. % Thangjam Takabi Devi
4. % Mary Kom

Question Number : 80 Question Id : 54592712604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2018 o arieter wav o7 URT &I UEH! 2! Ug® feear el

Options:
1. % a7 BT gata
2 % EETEm
3. ¥ ST daTET 2at
4. % [y wm
Arithmetic Ability1
Group Number : 5
Group Id: 545927625
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithrmetic Atalityl

Section Id : 545927625

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027749
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592712605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many numbers are there from 1 to 70, which are divisible by 97

Options:
1.¥7
Z ® B
3. %8
4 % g

Question Number : 81 Question Id : 54592712605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 & 70 J fFa-1 Sl . A1 9 ° T 87

Options:
1.9 7
2 %3
3. %6
4 % g

Question Number : 82 Question Id : 54592712606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
/3.61++/0.49
J1.21 ++/1.69

What is the value of

Options:

1. % 2|5
Z % 13
3. ¥ 1312
4. % 1]8



Question Number : 82 Question Id : 54592712606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

\J3.61 ++/0.49
J1.21 +4/1.69

T AT &7 22

Options:
1. % 2/5

2. % 13
3. ¥ 1312
4 % 1|6

Question Number : 83 Question Id : 54592712607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 WeRTE o Gl 21 3 WeRTE] o Dol ol Hd] 0eh 1044, 1247 T97 348 71 Gl ®1 [eigedl H 58 W sle T2 & o frt
ﬁzgjrr{a%qg—r«rmﬁﬂﬁnﬁﬁaﬁnﬁwwﬁﬁwﬁwﬁ%ﬁmmgﬂaﬁﬁ%mﬁw%ﬁw T
T 5

Options:

1. % 31

2 ® 35

3. % 37

4. ¥ 91

Question Number : 83 Question Id : 54592712607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are = types of flowers. The number of three types of flowers are 1044, 1247 and 248, The flowers are
packed in bunches such that no 2 types of flowers are mixed in any bunch. If each bunch has same number
of flowers and the number of flowers in every bunch is maximum, then what is the number of bunches?

Options:
1. % 81

2. % B85
3. % 87
4. ¥ 91

Question Number : 84 Question Id : 54592712608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfA= %+%+% Bic ;—G+%+$ and C = %JFT_IEJF% What is the value of (E":L+]3+IC_]4 ?
Options:

1. ¥ 06561

2. % 06916

3. % 07214

4 % 05118



Question Number : 84 Question Id : 54592712608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L'k Gl 1 1 1 1 1 1 4

AR A= B @i Gt af (A BEC) &7 AT #7491 &7
74 Sl 20 30 42 56 T2 N ( } éﬁ

Options:

1. % 06561

2. % DEI1E

3% 07214

4 ® 05118

Question Number : 85 Question Id : 54592712609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterment(s) isfare correct?

[. 41651434 15 divisible by 2, 4, & and &.
II. 39145876215 divisible by 3, 6, 9and 12
III. 86415296 15 divisible by 2, 3, 6and 11.

Options:
1. %1

2. %11
2% I

4. % MNone is correct

Question Number : 85 Question Id : 54592712609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR # | ® I | wE w5l R

I. 41651434, 2, 4, 6 79T 5 & E9F=T 81
II. 39148762, 3, 6, 9 79T 12 & fav=g
III. 86413296, 2, 3, 6 99T 11 & favr=a

Options:
1. %]

2. %11
3% I

4. & L AT ag AR

Question Number : 86 Question Id : 54592712610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What isthe valueof 42 + 9 wE {24+ d-8xwd +8-86+ 27

Options:
1. % 352

2. % 74zZ)2
3. ¥ 393
4 % g4l)z2



Question Number : 86 Question Id : 54592712610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
42+9><E-><{3+4—(9><4+8—6+2]|}ﬂ:7rﬂ1:rw%?
Options:

1. % 352

= ® 74202

3.9 393

4. % 5412

Question Number : 87 Question Id : 54592712611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
K when divided by 13, 4 and 8 leaves a remainder 3 in each case. What can be the value of K7

[.1473

II. 2315
III. 2355
IV, 5257

Options:

1. % Tandll
2 % Il and IV
3 ¥ I 00

4 %1V, 111

Question Number : 87 Question Id : 54592712611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
K, 13, 4 797 & ¥ ToTfaa @ 0% neder [earid o SWEa S FiEar a1 K &1 0= 7 57 99T 57

[.1473

II. 2315
III. 2355
IV, 5257

Options:
1. % I d9mll

2. % 111 J9m1V
290 I
4. % IV [ 1I

Question Number : 88 Question Id : 54592712612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of (0.5) +(0.25)+(0.14)’ +(0.02)+(0.9)" +(0.03) + (0.24)" +(0.02) 2
Options:

1. % 1755126

2. % 1705072

2. ¥ 1E6B.5072

4 % 1855126



Question Number : 88 Question Id : 54592712612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(05)” +(0.25)+(0.14) +(0.02)+(0.9)" +(0.03) + (0.24)" + (0.02)" T ATF FAT &7

Options:

1. ® 1755126
Z % 1705072
3. ¥ 166.5072
4 % 1855128

Question Number : 89 Question Id : 54592712613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

q
fa=2_1.7 g-

g
16 6 8 Z G B

and C =§x% +§. then what is the value of (A + B) +~ C?
Options:

1. % 193717

2 ® 277i34

3. ¥ 259134

4 ® 16117

Question Number : 89 Question Id : 54592712613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe A= E—1+E,B= 2y P S et g, ar (A+B)=C & AT Fr &7
16 6 8 2 6 8 8 3 8

Options:

1. % 19317

2 % 277134

3. ¥ 25934

4. % 161717

Question Number : 90 Question Id : 54592712614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & = Highest Cormmmon Factor of (718), (6/5), (9/2)and E = Least Cormrmon Factor of (2/5), (21100, then what
is the value of (& + B)?

Options:
1. % 27140
= % 47140
3.9 49140
4. % 29/40

Question Number : 90 Question Id : 54592712614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe & = (7)8), (6/5), (9/2) T UgaW AWVad® qolT B = (2/5), (3 10) F Aqad GH@Tacd &, a7 (4 + B) T 079 747 87



Options:
1. % 27140
2. % 47140
3.9 49140
4. % 29740

Question Number : 91 Question Id : 54592712615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what will be the average of the first eight positive even nurmbers?

Options:
1. % 11
2 ¥ 9
%7
4 % 5

Question Number : 91 Question Id : 54592712615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTH 3T {FTcHE TA TeEneit & e @7 g

Options:
1. % 11

2. ¥ 3
387
4 ® 5

Question Number : 92 Question Id : 54592712616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After allowing a discount of 12 percent on an article, Manoj incurs a 1loss of 56 percent. If the cost price of this
article is Rs 250, then what is the marked price of this article?

Options:

1. ¥ Es 125
2 % Rs 175
3. % Rs 135

4 % Hs 145

Question Number : 92 Question Id : 54592712616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e oeq O 12 Uid e & g o & Welld, A9 @1 56 Wid e & g1 5idT 81 Iie 56 aeg &1 & d Trd 250 FU g, a1 o6 aeg &
ST el 4T 57

Options:

1.9 125 =
2. % 175 =
3 % 135w
4, % 145 w7



Question Number : 93 Question Id : 54592712617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average of a set of three consecutive natural numbers is 19. The average of a set of another five
Consecutive natural nurmbers is 24, What is the sum of the largest numbers in both the given sets?

Options:
1. % &8
2. % 54
3. % g2
4 ¥ 5g

Question Number : 93 Question Id : 54592712617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T FHATTT UTE T w Tegradl & UF T AT 19 21 3 U wHITd Wiid o aeeamalt & U agg &1 o|g 34 81 fgw
ST AT § Hed FS T FETel W A AT 87

Options:
1. % 5E
2. % 54
3% g2
4. ¥ 58

Question Number : 94 Question Id : 54592712618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 96 is subtracted from 65 percent of a number, then the result is 112, What is the nurmnber of the nurnber?

Options:

1. % 240
2. % 280
3. ¥ 220
4 % 3260

Question Number : 94 Question Id : 54592712618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt TRt WEaT & 65 Wided § § 96 e S, 97 OiR0H 112 37197 81 FE3T & A1 947 57

Options:

1. % 240
2. % 280
3. ¥ 320
4 % 360

Question Number : 95 Question Id : 54592712619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If M exceeds M by S0 percent and I is 20 percent less than F, then what is M : P?

Options:
1. % 3.2
2. 0% 74



3% 35
4 ¥ 5:5

Question Number : 95 Question Id : 54592712619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M, N & 50 Oidad e s TN, P # 20 nidaa #A S, 9T M : F a7 87

Options:
1. % 3
2. 0% 7
3% 3
4. ¥ G

L0 IR W IR U L

Question Number : 96 Question Id : 54592712620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
J = 1667 percent of 128 and G = 12.5 percent of 222, which of the following is true?

Options:

1.%]=G-4
2 % ]=075G
3¥]=G-§
4 % ] =09G

Question Number : 96 Question Id : 54592712620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
] =138 W16 67 Widad oG = 232 #T 12 S uided B FeREe A e s arasa 27

Options:

1. % ]=G-4
2. % ] =075G
3V =G-8
4 % [ =09G

Question Number : 97 Question Id : 54592712621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cost price and selling price of an article is Bs 400 and Es 220 respectively. What is the ratio of loss
incurred on this article to cost price?

Options:

1. %5:1
2 ¥ 1:5
=% 1:4
4 % 4:1

Question Number : 97 Question Id : 54592712621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T BT G 9 T g @E 400 T 9T 320 T g1 5 Teq W FE B B R Jod § F97 S0 57

Options:




1. % 5
il 4
3% 1
4. % 4

N L

Question Number : 98 Question Id : 54592712622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cost price of article M and K is sarme. Article M is sold at a profit of 40 percent. Article K is sold at a loss of
40 percent. Selling price of article K is Rs 7800, What is the selling price of article M?

Options:

1. % Rs 21200
2. % Rs 18200
2. % Rs 19800

4. % Rz 18200

Question Number : 98 Question Id : 54592712622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I TUT K T 4 Hod ST 21 a€q M BT 40 UITad & 707 U2 &l 9T 21 T K T 40 Widsd S g1 O <= TR 81 aeg K
Eal e 7800 P 81 o M T o Ie ey T 27

Options:

1. % 21300 70
2. % 18500 7o
3 % 19600 70
4 ¥ 18200 70

Question Number : 99 Question Id : 54592712623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rajesh purchased 40 dozen pencils at the rate of Rs 55 per dozen. He sold 25 dozen at 40 percent profit and
the remaining 15 dozen at 60 percent profit. What is his total profit percentage?

Options:

1. % 35 percent
2. % 225 percent
2. % GG percent
4. ¥ 47 5 percent

Question Number : 99 Question Id : 54592712623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRAI = 40 Z=i9 UTEe 55 0 Uid T &l 3¢ F TN TG99 25 T 40 UTTaT & &1 U =01 T97 47 15 T 60 widad & &1
7] TEET Pl FAT Wi a1 T 57

Options:
1. % 35

o ¥ 9o ouiduT
3z ® oo gidad
4 & 47 S uiderT



Question Number : 100 Question Id : 54592712624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Theratioof A1, A2 and AZis 2 : 2 4 respectively. If their sum is 108, then what is the difference between 41
and A57

Options:
1. % 16
2 ¥ 24
3% 20
4 % 28

Question Number : 100 Question Id : 54592712624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A1, AD TUTAZ FT SJUTT #HM 2 : 3 4 81 Al AR AN 108 8, T AL TAT A3 & T2 25T F4T 87

Options:

1. % 16

= ¥ 24q

3% 20

4 % R
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592712625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The angles of a triangle are in the ratio = : 7 : 8. What is the largest angle of the triangle?

Options:

1. % go°
2. % qp°
3. ¥ B0°
4 % 700

Question Number : 101 Question Id : 54592712625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T A s RT3 7 0 8 o Sguid ® g1 FRJ T Fal ST i T 57
Options:

1. % go°

2. % qo°

3. ¥ 30°

4 % 70°

Question Number : 102 Question Id : 54592712626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three partners ¥, ¥ and Z start a business. Twice of X's capital is equal to thrice of ¥'s capital and ¥'s capital is
four times of Z's capital. If the total profit after one year is Rs 12200, then what is the profit share of Y7

Options:

1. * Rs 2600
2. % Rs 4800
2. % Rs 5200

4. % Hs 5400

Question Number : 102 Question Id ;: 54592712626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I AR X, Y T Z U s S T 3 d FEe @ g1 T Y O ek & 9 AT 3 96 a1 e 2% e
AR AT 81 IS o 3F 1T 0 el A1 13200 I 8, TTY HT AT &7 5eal 34T 57

Options:

1. % 3600 T
2. ¥ 4800 T
3. % 5200 T
4, % 5400 w0

Question Number : 103 Question Id : 54592712627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

REs 21000 gives Rs 9450 simple interest in 3 years. What is the rate of interest per annum?
Options:

1. % 16 percent



2. % 18 percent
3. % 12 percent
4. 9 15 percent

Question Number : 103 Question Id : 54592712627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
21000 T3 3 a9t § 9450 S TR0 =40 40 21 Wid oY sar &1 5¢ F47 37

Options:

1. % 15 nideT
2. % 18 uideT
3 % 12 0T
4. ¥ 15 nideT

Question Number : 104 Question Id : 54592712628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rs 25000 is invested at simple interest in 2 parts. One part is invested at a rate of 12 percent per annum and
the other part is invested at a rate of 18 percent per annum. If the total interest after 2 yearsis Rs 11700, then
what is the value of the 2 parts?

Options:

1. % Rs 10000, Rs 15000
Z % Rs 12000, Es 12000
3. % Rs 14000, Es 11000

4. % Rs 2000, Rs 17000

Question Number : 104 Question Id : 54592712628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

25000 20 BT 2 W H W ed T UT ey o T2m U 91 BT 12 Wi Wid oY 1 3¢ Ut T-err o A § wr G|l |
I 18 Hidad 0id a9 @1 20 o e T mem 81 3f = ad o §t s 11700 9 g, a7 2 | @ 0T 4T 57

Options:
1. % 10000 sy, 15000 F0r

o ¥ 12000 FE 13000 T2
2. % 14000 F0Y, 11000 T
4 ¥ 2000 FqF, 17000 FU=

Question Number : 105 Question Id : 54592712629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
50000 T B T g edT U LT AT 21 Fie, e Sl of 8 WIGaT Wid Iy (16 G- U) &, a7 3 99 @7 s F4T 577

Options:

1. % 12485 6 703
2. ¥ 129856 w7
3 % 11545 4 70
4, % 13408.2 w7

Question Number : 105 Question Id : 54592712629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Es 50000 is kept at compound interest. If the rate of interest is 8 percent per annurm (compounding annually),
then what is the interest for 2 years?

Options:

1. % Rs 124856
2 % Rs 129856
2 % Rs11845 4

4 % Hs 124082

Question Number : 106 Question Id : 54592712630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The speed of a train is 99 kmyhr. If the length of the train is 580 metres, then how rmuch time will it take to
cormpletely cross a platform 1120 meters long?

Options:

1. * 56 seconds
= ¥ £4 seconds
2. % 321 seconds

4 % 38 seconds

Question Number : 106 Question Id : 54592712630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%iwn:e?ra?rrrﬁ 99 T At jTeT 81 9 TSt & @FaTg 580 Hiex &, a1 g% 1180 HieT o teehIH & fdhd- G § T 0K &

Options:
1. ¥ 5g g9z

= ¥ 54 Ogrg
o ¥ 51 9w
4 ® 35 Oz

Question Number : 107 Question Id : 54592712631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& person goes from Delhi to Agra at a speed of 120 km/hr. He comes back from Agra to Delhi at a speed of x
krmfhr. If his average speed is 1200/ 17 kmyjhr, then what is the value of %7

Options:

1. % 40 km/hr
2. % 45 kmfhr
2. ¥ 50 lanfhr
4 % G0 km/hr

Question Number : 107 Question 1d : 54592712631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ST Tamel & TR 120 ToF AT o &1 i & J1a7 31 a5 SR & Teeat x Top AT 5eT &7 Wi & 970 omaT 81 e ST e
M 1200/17 AL [ 9eTs, 3T FTAF FAT 57

Options:
1. % 40 fFdr juer
= ® 45 TF AT jEer




3. ¥ SO fr At fueT
4 % g0 T jHer

Question Number : 108 Question Id : 54592712632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& B840 metres long train crosses a man walking in the opposite direction in 10 seconds. If the speed of the train
is 3 times the speed of the man, then what is the speed of the train?

Options:

1. % 114 8km/hr
2. % 1206 km/hr
2 % 148 4 km/hr

4. % 1728 kanjhr

Question Number : 108 Question Id : 54592712632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U 640 Alet Al tEe ! Tl i # o0d 75 UF [o &1 10 9902 # U ¢ &d 1 51 TS CrrTa T &1 Tid 159 & 9 &1 2 AT 5,
TTIETIST T T T 87 G G ks

Options:

1. % 114 5 fF ot geT
2. % 1206 TR AL g
% % 145 4 R AT HeT

4 & 172 8 AT joeT

Question Number : 109 Question Id : 54592712633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rarman and Raghay working together can cormplete a work in 24 days. With help of Baj, they can do the same
work in 20 days.In how many days can Raj alone cormnplete the sarme work?

Options:
1. % B0
= ¥ 120
2% 90
4 % 320

Question Number : 109 Question Id : 54592712633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

THA T 7Tl 9 THASe 0 &1 @1 24 o o @ | 5 O & SgaaT @ a5 391 &1 & 20 o § @ Ad 81 T 18T I9r
T F fra e o @ AT 87

Options:
1. % &0

2. ¥ 120
2% 40
4. % 50

Question Number : 110 Question Id : 54592712634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A completes a work in 8 days worlking S hours a day. B completes the sarmne work in 15 days working 4 hours a
day. If they together work & hours a day, then in how many days the work gets completed?

Options:
1. % 32
= ¥ 4
3% DK
4 % 44

Question Number : 110 Question Id : 54592712634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& T T B AT 5w @ aed g0 8 oA # [ A HaT 51 B FE BT @i Wi e 4 U BT @ed gU 15 T # @ # war gl
i g Ui & O @R & a3, af @ o o @7 g S

Options:
1. % 2
2 ¥4
3% 3K
4 % 41

Question Number : 111 Question Id : 54592712635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B and C together can cormplete half of a work in 4 davys. B and C together can finish 3710 of the same work
in 4 days. How much time will & take to complete the whole worlk alone?

Options:

1. % 10 days
=z ¥ 20 days
2. % 15 davs
4 % 24 days

Question Number : 111 Question Id : 54592712635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, B a1 C Tieee uw w1 @7 s, 4 T | @@ a7 @wd 81 B e C e g e w1310, 4 5T o @ o awd gl A Srber
TRT T B F | AT JH we

Options:

1. % 10%=
o ¥ 20T
3 % 15w
4 % 2477

Question Number : 112 Question Id : 54592712636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The radius of a solid cylinder is 21 cm and its height is
30 cm. What is the cost of painting the curved surface
of the cylinder at the rate of Rs 10 per cm??

Options:

1. % Rz 42800



2. ¥ Rz 39500
3. ¥ Rs 44200
4. % Rs 36800

Question Number : 112 Question Id : 54592712636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Uh I Sod &l Hedr 21 J.AT. o 36 395 30
oA &1 10 w9 ufd S e F 38 3 T6
I [T FHT A FT 57

Options:
1. % 42800 &y

= & 9600 T
3. ® 44200 BT
4 ® 3800 T

Question Number : 113 Question 1d : 54592712637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The total surface area of a cube is (243/8) cm?. What is
the volume of the cube?

Options:
1000 5
— cm’
% 343
729 g
— cmr’
o o 64
512 2
— Cm-
o % 27
1331 "
— cm’
4 % 64

Question Number : 113 Question 1d : 54592712637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ueh Hel 1 ol JoOd aTAhel (243/8) WAL §1 He
FT AT FT 872

Options:



1000 - oy 3
w343

Eﬂgfi ==
64

512 B
27

1331 X #rs3
64

Question Number : 114 Question Id : 54592712638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cuter and inner radius of a hollow spherical metallic ball is & crm and 4 cm respectively. What is the
volume of the ball?

Options:
13376
21

cm?

1 W

11276
21

cm?

14166
z % 21

cm?

13576

cm?

Question Number : 114 Question Id : 54592712638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T GIREET eITq, 1 TATRR Tig ol o] aoT 2T T3 w0 6 | 0T 727 4 907 81 1ig &7 e 747 57

Options:

13376 ,
—— A2

L 2



11276 ,
—— JA?
o % 21

14166 .
— [T

13576 .
.2
4 % 21

Question Number : 115 Question Id : 54592712639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The pie chart given below shows the number of foreigners who visited Taj Mahal from different countries. The
nurnber of foreigners visited Taj Mahal from a particular country are shown as a percentage of the total
riumber of foreigners visited the Taj Mahal.

c7, —
4%_ 7 cs

what is the central angle formed by the sector for C47
Options:

1.9 732°

= ® 3B.38°

3. % 144°

4. # Sg2°

Question Number : 115 Question Id : 54592712639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



et Team T g9 T A Tart & aranne A aner et & aEm o gaiar 51 U AT S0 & IrAAge A ane e iat a
T T, TTARGH A dlet defdrat & el @aT & Uidad & &0 § gariar =T 2]

c7,
4%

C4 o FUE ZIT &[T 7T dhc, 17 107 4T 57
Options:

1.9 7o

= % 36.8°

3 % 144°

4 % 5go2f

Question Number : 116 Question Id : 54592712640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the nurmber of bikes of different colours in a showroom. The number of bikes
of a particular colour are shown as a percentage of number of the total bikes in the showroorm.

If the total number of bilkes are 4400, then the number of red colour bikes are how rmuch less than the nurnber
of green colour bikes?

Options:

1. % 128
2. % 136
3. % 158

4. ¥ 176

Question Number : 116 Question Id : 54592712640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ter Tz ot g BrE v gten o ey a7 d ange S Ew B gaiaT ) U fetie O & aget B e B aew § § S sl o
TR o Ui ard oF &0 | Tartar T 21

afe ATS Rt T el FEAT 4400 B, TT AT T bl alTaeh] al TEAT B T ekl alTeeh | ol G & foadl & 27
Options:

1. % 126

2 % 136

3 % 156

4 ¥ 176

Question Number : 117 Question Id : 54592712641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the temperature of a city for 10 days of a ronth.

Days Temperature (in °C)
D1 40
D2 41
D3 43
D4 42
D5 44
D6 40

7 39
D8 37.5
D9 34.5

D10 44

Wwhat is the average temperature of the city per day?
Options:

1. % 325°C

2. ® 36.5°C

3. ¥ 40.5°C

4 % 445°C

Question Number : 117 Question Id : 54592712641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e ST E aTfeierT He i+ o 10 TEAt & 0 U a5 @ a0 Saidt 8

T AAE (°C #)
DI 40
D2 1
D3 43
D4 42
D5 44
Do 40
D7 39
D8 37.5
D9 34.5
D10 44
TiTe IET @7 e FTAT 747 57
Options:
1. ¥ 325°C
2 ® 355°C
3 ¥ 40.5°C
4 ® 445°C

Question Number : 118 Question Id : 54592712642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the number of buses that ran on a particular route on different days of a
woel,

-

60
50 1 4 36
40 -
30 -
20 -
10 -

| &
|

MNumi ber of buses

DI D2 DI D4 D5 D6
Davs

Find the total number of buses that ran on all the days.
Options:
1. ¥ 283

> ® 31%
o ® 293
4 ¥ 203

Question Number : 118 Question Id : 54592712642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



it Team T avE TE Uw 50 & 9g oAt o uw FieT w w o aet & ST o gaiar o

70 1 6l
60 50 54 —
50 - M
40 4
30 4
20
10 -
":i T T T T T 1
DI D2 D3 D4 D5 D6

R

b
e

)
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Options:

1. % 283

2 % 313

3 % 293

4. ¥ 303

Question Number : 119 Question Id : 54592712643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of trains departing from a station for 8 days of a month.

707 61

4 53 35
60 14g 5 49
50
40 - g 47
30 4
20
10

G T T T T T T T 1
D1 D2 D3 D4 D5 D6 D7 D8

Mumn bver of trains

Davs

The number of trains departing on day D& is how much less than the average number of trains departing
from the station?

Options:

1. ¥ 5625

2 ® 7625

3 % 9625

4 % 11625

Question Number : 119 Question Id : 54592712643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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10 1
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DI D2 D3 D4 DS D6 D7 D8
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Options:
1. ¥ 5 EZS

= ® 7EZ5
S ® g9g2g
4 ® 11625

Question Number : 120 Question Id : 54592712644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the marks obtained by different girls in a subject.

100 1 ”
05 -

90

Marks
()
Lh

Gl G2 G3 G4 G5 Gb6
Girls

The marks obtained by girl G2 is what percentage of total marks obtained by all the § girls?
Options:

1. % 591 percent

2. % 11.91 percent

= ¥ 16.91 percent

4, % 26.91 percent

Question Number : 120 Question Id : 54592712644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 591 qigaw
2 % 11.91 nfdem
3. ¥ 16.91 UideT
4, % 2691 nidsT
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592712645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

she had no other option (1) | but than of (21 ] collecting flowrers (3) [ Mo error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 121 Question Id : 54592712645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She had no other option (1) [ but than of (2) | collecting floweers (2) [ No error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4

Question Number : 122 Question Id : 54592712646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Zan you (1) | please pass mine (2) | a glass of water (3) 17 Mo error (4)
Options:
1.%1
2. V2
3% 3
4 % 4

Question Number : 122 Question Id : 54592712646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Can you (1) | please pass mine (2) | a glass of water (3) 7 Mo error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4



Question Number : 123 Question Id : 54592712647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

Unless vou do not (1) work hard (2) [ vou will fail (2) . Mo error (4)
Options:
1.¥ 1
2. %2
=% 3
4 % 4

Question Number : 123 Question 1d : 54592712647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Unless vou do not (1) work hard (2) [ vou will fail (2) |, Mo error (4)
Options:
1.¥ 1
2. %2
3. %3
4 % 4

Question Number : 124 Question Id : 54592712648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

He 15 (1) | roarried with (20 § his cousin (30 [ No error i4)
Options:
1.%1
2. V2
3% 3
4 % 4

Question Number : 124 Question Id : 54592712648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

He is (1) | married with (2) | his cousin (3) . No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 125 Question 1d : 54592712649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

This edition is {1) | wery difference to (2) | the other (3) /. Mo error (4)
Options:
1.%1
2. ¥z
3% 3
4 % 4

Question Number : 125 Question Id : 54592712649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

This edition is (1) | very difference to (2) [ the other (3) /. Mo error (4)
Options:
1.%1
= vz
3% 3
4 ® 4

Question Number : 126 Question Id : 54592712650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

[ hawve been living here (since) months.
Options:
1.9 for

% in
3. % with

4. % IMNo [mprovernent

Question Number : 126 Question 1d : 54592712650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

I hawve been living here (Since) rmonths.
Options:
1.9 for

2% in
3. % with

4. % MNo Improvermernt

Question Number : 127 Question Id : 54592712651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

I shall thave) plenty of time tomorrow.



Options:

1. % has
Z ® yere
3. #* had

4. ¥ No [mproverment

Question Number : 127 Question Id : 54592712651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

I shall (hawve) plenty of time tomaorrow.
Options:

1. ® has

= #® yere

2. ® had

4. % No Improvermnent

Question Number : 128 Question Id : 54592712652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She jumped off the bus while it {mowved).
Options:

1. % moving

2. ¥ s moving

2. % are moving

4. # Mo Improvermnent

Question Number : 128 Question Id : 54592712652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She jumped off the bus while it {moved).
Options:

1. ® moving

2. ¥ was moving

3. % are moving

4. % No Improvernent

Question Number : 129 Question Id : 54592712653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

whern we reached the cinerra, the film have started).
Options:
1. ® has already started



2. ¥ had already started
3. * iz started

4. % Mo Improvement

Question Number : 129 Question Id : 54592712653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

when we reached the cinerra, the film thave started).
Options:

1. ®* has already started

Z % had already started

3. % iz started

4. % No Improverment

Question Number : 130 Question Id : 54592712654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

They met a boy (Carry) a basket of fruits.
Options:
1. % carried

2. % rcarries
2. ¥ carrying

4. % No Improvermnent

Question Number : 130 Question Id : 54592712654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

They met a boy (carry) a basket of fruits.
Options:

1. % carried

2. ® carries

3. ¥ carrying

4. % Mo Improvement

Question Number : 131 Question Id : 54592712655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

The et tradn will ______ at 1:00 prm
Options:

1. ¥ leave

= % leaving

3. *® legves



4. = laft

Question Number : 131 Question Id : 54592712655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

The next train will ______ at 1:00 prm
Options:

1. ¥ leave

2. % leaving

3. % leaves

4 = left

Question Number : 132 Question Id : 54592712656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

We want ______ rrieTy like hirm.

Options:
1. * much

Z% most
= ¥ more

4. % any

Question Number : 132 Question Id : 54592712656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Te weart ______ men like hirn.

Options:
1. * much

2. % most
3= % more

4. % any

Question Number : 133 Question Id : 54592712657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

REead it carefully.

Options:

1. % next
2. ¥ over
3% like
4. % why



Question Number : 133 Question Id : 54592712657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

Feadit ______ carefully.

Options:
1. % next

2 % over
= o like
4. % why

Question Number : 134 Question 1d : 54592712658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

laskitasa ______
Options:

1. % right

2. % round

2 % such

4. % while

Question Number : 134 Question Id : 54592712658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

laskitasa ______
Options:

1. % right

2. % round

2 % such

4. % while

Question Number : 135 Question Id : 54592712659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

cheisa ______ relative,

Options:
1. % next

2% needs
= ¥ near

4 ® =0

Question Number : 135 Question 1d : 54592712659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Sheisa ______ relative.

Options:
1. % next

2. ® needs
= % near
4 % 30

Question Number : 136 Question Id : 54592712660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The wiser she 15, the

Options:

1. % best
2. % good
2 % bad
4. ¥ better

Question Number : 136 Question Id : 54592712660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

The wiser she 15, the
Options:
1. % best

2. % good
= % bad
4. 9 better

Question Number : 137 Question 1d : 54592712661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He is willing, ______ unahle.

Options:
1.9 yet

2. % 50
2. % why
4. % up

Question Number : 137 Question Id : 54592712661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He 15 walling, unakble.



Options:
1.9 yet
2. % =0
2. % why
4. % up

Question Number : 138 Question Id : 54592712662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Do not start ______ vou hear from me.
Options:

1. % for

2. % since

3. ¥l

4. ® more

Question Number : 138 Question Id : 54592712662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Do not start vou hear from me.
Options:

1. % for

2. % since

3. ¥ tll

4. % more

Question Number : 139 Question Id : 54592712663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices that form a coherent paragraph.

F: and a fire was lit
- radha was made
E: side of the bridegroom
5. 1o sit on the right

Options:

1. ¥ OSEP
2. % Q5PR
2. % PORS
4 % SROP

Question Number : 139 Question Id : 54592712663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices that form a coherent paragraph.

F: and a fire was lit

) radha was made

E.: side of the bridegroormm
S to sit on the right
Options:

1. ¥ QSREF

2. % QSFR

= % POES

4. % SRCFP

Question Number : 140 Question Id : 54592712664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: besides these, a blacksmith

& had sent models of an aeroplane
E.: which were highly appreciated
S:and an anti-aircraft gun

Options:

1. * PORS

2 ¥ POSR

2. % QSRP

4 % PRSQ

Question Number : 140 Question Id : 54592712664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: besides these, a blacksmith

& had sent models of an aeroplane
E: which were highly appreciated
S:and an anti-aircraft gun

Options:
1. % PORES
2. % POSE
3. % QSEFP
4 % PRSC
eneral Englishz
Group Number : 8
Group Id: 545927628
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
eneral English2
Section Id : 545927628
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027752
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 54592712665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: one dares nothing, gains nothing.

i courage and bravery are adrrable qualities

E: but courage and bravery should be exercised with discretion and wisdorm.
5 a coward can do nothing; he can achieve nothing.

Options:

1. ¥ QFSE

2. % PORS

3. % QSEF

4. % QRPS

Question Number : 141 Question Id : 54592712665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: one dares nothing, gains nothing.

3 courage and bravery are adrmirable qualities

E: but courage and bravery should be exercised with discretion and wisdorm.
5 a coward can do nothing; he can achieve nothing.

Options:
1. % QPSR
2. % PORS



3. % QSEP
4. % ORPS

Question Number : 142 Question 1d : 54592712666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Regret

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Appreciate

Z. Remorse

=. Ruthlessness

4. Praise

Question Number : 142 Question Id : 54592712666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Fegret

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Appreciate

2 Remorse

2 Ruthlessness

4. Praise

Question Number : 143 Question Id ;: 54592712667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Miserable
Options:

1. % Contended
. % Allowed

3. ¥ Dejectad
4. % pccepted

Question Number : 143 Question Id : 54592712667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Miserable
Options:
1. % Conterided



2. % Allowed
3. ¥ Dejected
4. % Accepted

Question Number : 144 Question Id : 54592712668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Tarnish
Options:

1. % Honour
= % Assist
3. % Praise
4. % Stain

Question Number : 144 Question Id : 54592712668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Tarnish
Options:

1. % Honour
= ® Assist
3. * Praise
4 ¥ Stain

Question Number : 145 Question 1d : 54592712669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Linger
Options:

1. ¥ Forge
2. % Stay

3. * Put

4. % Rerain

Question Number : 145 Question Id : 54592712669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that 15 opposite i meaning to the Zivern word.

Linger
Options:

1. % Forge
= ® Stay
3. % Put



4. % Rernain

Question Number : 146 Question Id : 54592712670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Plentiful
Options:
1. ¥ Ample
= % Sparse
3. % Scarce

4 # Less

Question Number : 146 Question Id : 54592712670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Plentiful
Options:
1. ¥ Ample
2. ® Sparse
2. % Scarce

4 * Less

Question Number : 147 Question Id : 54592712671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. ® Preceede
Z. % Preceade
3. ¥ Precede

4. % Prearede

Question Number : 147 Question Id : 54592712671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:
1. # Preceede

2 % Preceade
3. % Precede
4 % Pregcede

Question Number : 148 Question Id : 54592712672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Ocrassionally
2. ¥ Cccasionally
2. % Occasionaly

4. % Ocrassionaly

Question Number : 148 Question Id : 54592712672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. #* Ocrassionally
= ¥ Cccasionally
3. % Ocrasionaly

4. % Occassionaly

Question Number : 149 Question Id : 54592712673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Personnel
2. % Persomel

2. % Parsonel

4. % Persnal

Question Number : 149 Question Id : 54592712673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. ¥ Personnel
2. % Persomnel

2. % Parsonel

4. % Persnal

Question Number : 150 Question Id : 54592712674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the four given alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Child's play
Options:



1. ® Tomake a poor impression
= ¥ A very easy task
2. * Todie while on duty

4. % A fantastic story

Question Number : 150 Question Id : 54592712674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the four given alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Child’s play
Options:

1. % Tomake a poor IMpression
2. ¥ A very easy task

2. % To die while on duty

4. % A fantastic story

Question Number : 151 Question Id ;: 54592712675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOR-'-.?iﬂg Question, out of the FiveTl four alternatives, select the alternative which best expresses the
ITEanIng of the Idiom Phrase.

Evwery inch

Options:

1. % Completely

Z % The skill of oratory
3. # Honesty

4. % Tolook gloomy

Question Number : 151 Question Id : 54592712675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Ewery inch

Options:

1. ¥ Completely

2. # The skill of oratory
2. % Honesty

4. % Tolook gloomy

Question Number : 152 Question 1d : 54592712676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To see eye to eye



Options:

1. ¥ Just dealing

Z % Ineffective rermedy
3. ¥ Toagree

4. % To flatter

Question Number : 152 Question Id : 54592712676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | FPhrase.

To see eve to eye
Options:

1. # Just dealing

= % Ineffective remedy
3. ¥ Toagres

4. % To flatter

Question Number : 153 Question 1d : 54592712677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

That which can be seen through
Options:

1. % Opagque

2. ¥ Transparent

3. % Translucent

4 % Reflective

Question Number : 153 Question Id : 54592712677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

That which can be seen through
Options:

1. ¥ Cpaque

= ¥ Transparent

3. #® Translucent

4. % Reflective

Question Number : 154 Question Id : 54592712678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that can substitute the given sentence.

Cne extrermnely fond of one’'s wife
Options:



1. ¥ Uxorious
= % Uxoricide
3. * Misogynist
4. % Philanderer

Question Number : 154 Question Id : 54592712678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

One extrermnely fond of one’s wife
Options:

1. % Usxorious

2. % xoricide

3. % Misogynist

4. % Philanderer

Question Number : 155 Question Id : 54592712679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
hoose the word that can substitute the given sentence.

Able to do many different things
Options:

1. % Perfectionist

2. % Master

3. #® Naive

4. Versatile

Question Number : 155 Question Id : 54592712679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Able to do many different things
Options:

1. ® Perfectionist

= % Master

3. % Naive

4. ¥ Versatile

Sub-Section Number: 2
Sub-Section 1d: 545927753
Question Shuffling Allowed : Yes

Question Id : 54592712680 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Juestion Label - Comprehension
Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor. Only paltry sums are
available for excavating and even less is available for publishing the results and preserving sites once
excavated. Yet archaeologists deal with priceless objects every day. Second, there is the problem of illegal
exCavation, resulting in museurn quality pieces being sold to the highest bidder. T would like t0 make an
outrageous suggestion that would at one stroke provide funds for archaeclogy and reduce the amount of
illegal digging. I would propose that scientific archaeological expeditions and governmental authorities sell
exCavated artifacts in the open market. You might object that professionals excavate to acquire knowledge or
morney. Moreover, ancient artifacts are part of our global cultural heritage, which should be available for all to
appreciate, not sold to the highest bidder. Sell nothing that has unique artistic merit or scientific value. But,
you might reply, everything that comes cut of the ground has a scientific value. Theoretically, yvou may be
correct inl clairming that every artifact has a potential scientific value. The baserment of museurms is sirmply not
large enough to store the artifacts that are likely to be discovered in the future. There is not enough money
everl to catalogue the finds, as a result, they cannot be found again and become as inaccessible as if they had
never been discovered. Indeed, with the help of a computer. some artifacts could be more accessible than are
the pieces stored in bulging museum baserments. Prior to sale, each could be photographed and the list of the
purchasers could be maintained on the cormputer. & purchaser could even be required to agree to return the
piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the open market. But
the demand for the clandestine product would be substantially reduced. Who would want an unmarked pot,
when ancther was available, whose provenance was knowr and that was dated stratigraphically by the
professional archeologist, who excavated it?

Sub questions

Question Number : 156 Question Id : 54592712681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which word means the same as excavate?

Options:
1. ¥ Uncover
2. % Fill
2. % Produce

4. % Raise

Question Number : 157 Question Id : 54592712682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is mentioned in the passage as a disadvantage of storing artifacts in musewm
baserments?

Options:

1. % Museum officials rarely allow scholars access to such artifacts

2. % Space that could be better used for display is taken up for storage

2. % Such artifacts are often damaged by variations in temperature and hurmidity

4. % There is not enough meoney to catalogue therm and as a result they becorme inaccessible as if they had
never been discoverad

Question Number : 158 Question 1d : 54592712683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements is NOT true about duplicate artifacts?

Options:
1. * A& market for such artifacts already exists.

2. % Such artifacts seldorm hawe scientific value.



2. % There is likely t0 be a continuous supply of such artifacts.

4. % No option is correct.

Question Number : 159 Question Id : 54592712684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author anticipates which of the following initial objections to the adoption of his proposal?

Options:

1. % Museum official will become unwilling to store artifacts

2. % An over supply of salable artifacts will result and the demand for thern will fall

2. ¥ Artifacts that would have been displayed in public places will be sold to private collectors

4. % [llegal excavators will have an even larger supply of artifacts for resale

Question Number : 160 Question Id : 54592712685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

The primary purpose of the passage is to propose;

Options:

1. % An alternative to museurn display of artifacts

= ¥ A way to curb illegal digging while benefitting the archaeological profession

2. % 4 way to distinguish artifacts a scientific value from those that have no such value

4. % A new systermn for cataloguing duplicate artifacts

Question Id : 54592712680 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

Archaeology as a profession faces two major problems. First, it is the poorest of the poor. Only paltry sums are
available for excavating and even less is available for publishing the results and preserving sites once
excavated. Yet archaeologists deal with priceless objects every day. Second, there is the problem of illegal
exCavation, resulting in museurn quality pieces being sold to the highest idder. T would like t0 make an
outrageous suggestion that would at one stroke provide funds for archaeology and reduce the amount of
illegal digging. I would propose that scientific archaeological expeditions and governmental authorities sell
excavated artifacts in the open market. You might object that professionals excavate to acquire knowledge or
morney. Moreover, ancient artifacts are part of our global cultural heritage, which should be available for all to
appreciate, not sold to the highest hidder. 5ell nothing that has unique artistic merit or scientific value. But,
you might reply, everything that comes cut of the ground has a scientific value. Theoretically, yvou may be
correct inl clairming that every artifact has a potential scientific value. The baserment of museurms is sirmply not
large enough to store the artifacts that are likely to be discovered in the future. There is not enough money
everl to Ccatalogue the finds, as a result, they cannot be found again and becorme as inaccessible as if they had
never been discovered. Indeed, with the help of a computer. some artifacts could be more accessible than are
the pieces stored in bulging museum baserments. Prior to sale, each could be photographed and the list of the
purchasers could be maintained on the cormputer. & purchaser could even be required to agree to return the
piece if it should become needed for scientific purposes.

It would be unrealistic to suggest that illegal digging would stop if artifacts were sold in the open market. But
the demand for the clandestine product would be substantially reduced. Who would want an unmarked pot,
when ancther was available, whose provenance was knowrn and that was dated stratigraphically by the
professional archeologist, who excavated it?

Sub questions

Question Number : 156 Question Id : 54592712681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which word means the same as excavate?
Options:

1. % Uncover

2 % Fill

% % Produce

4. % Raise

Question Number : 157 Question Id : 54592712682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is mentioned in the passage as a disadvantage of storing artifacts in museum
basements?

Options:

1. # Museum officials rarely allow scholars access to such artifacts

2. % Space that could be better used for display is taken up for storage

Z. % Such artifacts are often damaged by variations in temperature and humidity

4. % There i3 not enough money to catalogue them and as a result they become inaccessible as if they had
rever beer discoveradd

Question Number : 158 Question Id : 54592712683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is NOT true about duplicate artifacts?

Options:

1. % & market for such artifacts already exists.

2. % such artifacts seldom have scientific value.

3. # There is likely to be a continuous supply of such artifacts.

4. ¥ Mo option is correct,

Question Number : 159 Question Id : 54592712684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author anticipates which of the following initial objections to the adoption of his proposal?

Options:

1. ¥ Museum official will becorne unwilling to store artifacts

2. % in over supply of salable artifacts will result and the demand for thermn will fall

% ¢ Artifacts that would have been displayed in public places will be sold to private collectors

4. % Jllegal excavators will have an even larger supply of artifacts for resale

Question Number : 160 Question Id : 54592712685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The primary purpose of the passage is to propose:

Options:

1. % An alternative to museurn display of artifacts

2. ¥ A way to curb illegal digging while benefitting the archaeoclogical profession

3. ® & way to distinguish artifacts a scientific value from those that have no such value

4. % 4 new systemn for cataloguing duplicate artifacts
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Question Number : 161 Question Id : 54592712686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T iy sreg; # w1 FE
Terfepuit

Options:

1. ¢ g

2 % ot

3 % T

4 % T

Question Number : 161 Question Id : 54592712686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T My e # FuRnf @ T Fm

Teprfepuf

Options:



1. ¢ g
2. % it
% % T
4. ® fF

Question Number : 162 Question Id : 54592712687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty areg 1 F  F uga e

TITeRT

Options:

1. arie |
2 % o7 gy
3 % o e
4 ® T

Question Number : 162 Question Id : 54592712687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr Ty ateg ® ATE & w7 & UgE Fem

TITIET

Options:

1. amis |fEr
2, % |
3. % feraf wter
4, % 17 e

Question Number : 163 Question Id : 54592712688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TeraaT T e T TR T SIEeT 8 ATT it

T o AT T T2l
Options:

1. & Eaier

2. % amyrg

3. % IRUmdE

4 % ggm

Question Number : 163 Question Id : 54592712688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T ATer o TR T SIRAT & AT it

T o AT a8 Tl
Options:

1. ¢ geieprioiar
2. % amyg



3. % TR
4. % wgE

Question Number : 164 Question 1d : 54592712689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # & B AT deg T arw 27
Options:

1. % armara

2 o aEgT

3 % Ay

4 % gryEm

Question Number : 164 Question Id : 54592712689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TETATET # & F 9 AT e Tl sITeF 57

Options:

1. % ey
2. ¥ aRgT
= % Ay

4 ® gmiyam

Question Number : 165 Question 1d : 54592712690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Terr T Everertar 3 oY SR U @ o i
Stta & G

Options:

1. % Stegs

2 ® Samn

3. SiaagE

4 8 EIHE%S

Question Number : 165 Question Id : 54592712690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamr Ty e 3 oD AT UE @ A S
S # T

Options:

1. % Siogs

2 % Staagm

3. ¥ StaagE

4 * Gﬁa:lﬁﬁ'ﬁ

Question Number : 166 Question Id : 54592712691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T seg g T anef T i

¥ - T
Options:
1. % gt - /g
2. ¢ gl - warg
3. % emdf - AET
4. ® gedt - 7T

Question Number : 166 Question Id : 54592712691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tom M7 steg A T anf AT wem

BRT - T
Options:
1. % guaf - 7
2. ¢ gedf - v
3. % edl - @Ee
4. % ged - 931

Question Number : 167 Question Id : 54592712692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam 7T =TT F Y IR e @ arae i
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Options:

1. % aqEd

2 % g

3. % gaAd

4 ¥ RTeE

Question Number : 167 Question Id : 54592712692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T&TT T e o ToiT 3T dee &7 = i
[EGEIRE GRS

Options:

1. % AT

2 ® ome

3. % g

4 ¥ SR

Question Number : 168 Question Id : 54592712693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T seg @ T e T dhiFAT



Options:
1. % goer
2. ® g
3. % I
4. ¥ TE

Question Number : 168 Question Id : 54592712693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fau M7 sz @7 A e A FE

ST
Options:

1. % guer
2. % gy
3. % 9o
4. ¥ e

Question Number : 169 Question 1d : 54592712694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T&TT TIT 3122 @7 Ui T i

ELIRIED
Options:

1.« urpide
2. % fifew
z % Fiaw
4 % JAfdw

Question Number : 169 Question Id : 54592712694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T SeT T T A e

EL NG
Options:

1. ¥ urpide
2. ® i
3 % giaw
4 % 3w

Question Number : 170 Question Id : 54592712695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fam my et & oo e e @ oaa Fifm

Tl T Tegr
Options:

1. % HE=g®



2. ¥ wig=gw
3. ¥ gay
4. % fEamar

Question Number : 170 Question Id : 54592712695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty iy & 0 SR g @ e Hie

HIE T Soger
Options:

1. % Hz=g®
2 % Oiggw
3. ¥ 4y
4. % faamr

Question Number : 171 Question Id : 54592712696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg ! H # Qg Sl W Ao i

Options:

1. % gaopE
2 % EEEmmi
3. ¥ g
4. ® gHgier

Question Number : 171 Question Id : 54592712696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o M7 wegt ® # g =T T gee FE

Options:

1. % gaEapee
2. ® cEagm
3. ' gEaigu
4, ® EEieAr

Question Number : 172 Question Id : 54592712697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T AT | TR wT F gid dra

Options:

1. %
o % oW
3. % g
4. ® AR



Question Number : 172 Question Id : 54592712697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T AT | TR wT F gid dra

Options:

1.
2 %A
2% ENT
4. ¥ aryaw

Question Number : 173 Question 1d : 54592712698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &g
2. % gigr
3. T
4 % qHEE

Question Number : 173 Question Id : 54592712698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % &g
2 % Oigr
3. ¥ o
4. % mEE

Question Number : 174 Question Id : 54592712699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ghar

2. % iy

z ¥ gig

4 % efiwT

Question Number : 174 Question Id : 54592712699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:



1. % ghar
2 % ey
3. v I
4. % T

Question Number : 175 Question Id : 54592712700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v afvegT

2. % T

3. ST
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Question Number : 175 Question Id : 54592712700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEIT T AT o T ST S o7 oo S
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Options:

1. ¥ afveeT

2. % T

3. T

4. % armE

Question Number : 176 Question Id : 54592712701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 176 Question Id : 54592712701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T TR W g ® T A I
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Options:

1. % 1t 3 S Ry fged ot B
2 % 1ig o e g1 He-d wedr gl



3. ¥ g ¥ TR HEAT W 8l
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Question Number : 177 Question 1d : 54592712702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 177 Question Id ;: 54592712702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 54592712703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % wuer
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Question Number : 178 Question 1d : 54592712703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 54592712704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 54592712707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question Id : 54592712708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 54592712708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 54592712709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 54592712709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 54592712710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 54592712710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 54592712711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id ;: 54592712711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 54592712712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 54592712712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 54592712713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 54592712713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 54592712714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id ;: 54592712714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 54592712715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 54592712715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 54592712716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 54592712716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt g # T my o Rt # 9 39 ey @ ae o S Ry m grTe F ol F S9ay w7 8 s aaT gl

ST ST H TS AT

Options:

1. ¢ U gy g &

2. ® ST HT WTH

3. ® ST A 987 dedm
4 % T - ST | § qa g

Question Number : 192 Question Id : 54592712717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 54592712717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 54592712718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 54592712718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 54592712719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 54592712719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 54592712720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question 1d : 54592712720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o o = H o W H AET SR g § A dem

Fieer 2= T F dW F e H# Faw 02l

Options:

1.9,

2% -

3w

q %
Sub-Section Number: 2
Sub-Section I1d: 545927756
Question Shuffling Allowed : Yes

Question Id : 54592712721 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 196 Question Id : 54592712722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 54592712723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question 1d : 54592712724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 54592712725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question 1d : 54592712726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 54592712721 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cestion Label | Comprehiension
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Question Number : 196 Question Id : 54592712722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 197 Question Id : 54592712723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR T e T 27
Options:

1. % {2RITe @7 Agea

2. ¥ Ty o e TR

3. % st

4 % g

Question Number : 198 Question 1d : 54592712724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 199 Question Id : 54592712725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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